[ Efficiency vs vertpos |

—_

efficiency vs vert

efficiency vs vert z

Ratio

0.8

0.7%

0.6

.....................................

T,
Jo| R | PRI B T
VS : : : T
L B b +
L b b +
L +4 5 3 T
1=+t EHE 2 T4 BEE S EEC X
N h 5
L |+ HE o +
r b o +
0.95 : x

10 1 10 0?
TP vertr (cr%)

—— DQM_TT__CKF_ORIG
—— DQM_TT__CKFandPLess_ORIG
—— DQM_TT__CKFandPLess_MODIF

0.8

o

iy

be-

0.9

|Jlu bbb ..LLullll
H L ki '"'”|ru !

0.l

(o8]
o

-20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N

efficiency vs Sim. PV

Ratio

0.8

o
3

o
o))

o
o

o
N

©
w

©
N

0.1

0.95L

=20

1510 5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


